
Multiply by Powers of Ten (J)Find each product.
48 × 1.000 = 56 × 0,01 =
54 × 0,01 = 8 × 0,001 =
83 × 0,001 = 33 × 0,001 =
75 × 1.000 = 11 × 1 =
98 × 10 = 85 × 10 =
26 × 100 = 48 × 1 =
33 × 0,001 = 97 × 10 =
99 × 0,001 = 70 × 100 =
97 × 0,1 = 47 × 0,001 =
16 × 1 = 1 × 0,01 =
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Multiply by Powers of Ten (J) AnswersFind each product.
48 × 1.000 = 48.000 56 × 0,01 = 0,56
54 × 0,01 = 0,54 8 × 0,001 = 0,008
83 × 0,001 = 0,083 33 × 0,001 = 0,033
75 × 1.000 = 75.000 11 × 1 = 11
98 × 10 = 980 85 × 10 = 850
26 × 100 = 2.600 48 × 1 = 48
33 × 0,001 = 0,033 97 × 10 = 970
99 × 0,001 = 0,099 70 × 100 = 7.000
97 × 0,1 = 9,7 47 × 0,001 = 0,047
16 × 1 = 16 1 × 0,01 = 0,01
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